
Fill in the blanks with the appropriate answer.

(i)  There are 36 �owers in the garden. Each plant has 6 �owers. 

 How many plants are there in the garden? 

 Number of plants in the garden = _____

(ii)  Divide 20 chocolates between 2 grandmothers. 

 How many chocolates will each grandmother get?

 Number of chocolates each grandmother gets = _____

(iii)  Distribute equally 45 Rasgullas among 9 bowls. 

 How many Rasgullas will each bowl contain?

 Number of Rasgullas in each bowl = _____

(iv)  Doremon wants to divide 27 apples among 3 kids. 

 How many apples should he give to each kid?

 Number of Apples Doremon should give to each kid = _____

(v)  Ninja Hattori wishes to distribute 81 icecreams to 9 children. 

 How many icecreams will each child receive? 

 Number of icecreams each child gets = _____
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(i)  Number of plants in the garden = 36 ÷ 6 = 6 plants

(ii)  Number of chocolates each grandmother gets

 = 20 ÷ 2 = 10 chocolates

(iii)  Number of Rasgullas in each bowl = 45 ÷ 9 = 5 Rasgullas

(iv)  Number of Apples Doremon should give to each kid 

 = 27 ÷ 3 = 9 apples

(v)  Number of icecreams each child gets = 81 ÷ 9 = 9 icecreams
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